=EEHRHRASAH

EBETEE (FIH—H W)

MR RMRERET - e T e st (2014F R — R FZABARZE L) DE1HFE EIEGRRE
BBROMEXF) 3.2 7UH—RILMILSMEXFEREIICELTRETT 5,

1. HE= EERAREHE KBRS >
2. = RE-SP5B1 (-BKN)
3. #ERET
(ME¥REE:W w=[__ 1260 |ke
(2)7Uh—iK Ik
DA :n n= 4 PN
Q@UAR M 10
@—A&HT=YDEMTEIE (FFRIZKDMEIE) A=| 785E-05 |m2
D IRELBIZEZAIGEDEIRVEZ (TR AIOTU - VMEARE : nt
nt= 2 |2|K
OME VASS400) |
BEAFITEKIVEBFRELETOSSE hG= 0.224 m
(D) RFTBARMDRI=F MANY = 1.034 m

(B)RET A MM RIK VDR E DT THKF R

IG= 0.496 m (IG=1/2)

4. REIETE
(EERETHAKEEE KH KH= 15 E3 5,
(2)FJFTHAEEEE KV KV=KH/2= 0.75
(B)ERETR/KEH#EAH :FH FH=KHX9. 8-W= 1852.2 N
(4)ERETHSEMEN FV FV=KVX9. 8-W= 926.1 N

(B)TUuh—F MDA L -YIZERT5514kEH :Rb
Rb={FH-hG+ (9. 8-W+FV)-(I—I1G)}~{I-nt}=[ 7628 [N
(B)TUh—K M DIARLS-VIZERTHEARA :Q

Q=FH./n= 463.1 N

(VTUh-KWMZETBIEHE
@512 RYRHE o 0 =Rb.A_1000000= | 9.7 |MPa

o=[_97 ] <f=[__1760 |wPa

QEAMIEHE T T =Q.”A.~1000000=| 5.9 |MPa

t=[___59 | <fs=[_1010 _|MPa

@BIoRY EFAMERBICZIT5156

fts=14ft—167 =] __ 2370 _|MPa
o=[__97 | <fts=[_ 2370 _|MPa

(8) B LR EMERT- LIS Q0U4FEM—RMEZABEREEL 2 DE1HR FR1KY
7K WNETE = EARLE. LARARILE |
@avy)-tEE=[__ 120 |mm = 012 |m

QF M DIEHAHES
L= 80 _ |mm = 0.08 m
@HFBSIERERE Ta= 2600 [N
Ta=[__ 2600 |N>Rb=[ 7628 |N

LEDEEKY, FUh—FK MME+570BEZHL TS,

CE)ARBEDELIICE T, TUh-K W DEEATEA T EDNRIYBELGEWRICEEEE
fERALTEZELY,

[ WYNT1—1747 |

(1.71)



